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BREMBREE Bkl X —8xk (CUIREZEHA)
LI X v SH % A& %5 EE 25 ®5H A R—=\)L
N \ TLREY (GEM) 1000mg/m 309> div dayl, 8. 15
GC (BB A) - 28H
v X7 ZF > (CDDP) 70mg/m 12049 div day?
X hrLFEH—K (MTX) 30mg/m 2~5%3 Y dayl, 15, 22
> 72257 (VLB) 3mg/m 2~5% Y day2. 15, 22
M-VAC 28 H
F+viie> > (DXR) 30mg/m 2~5% iv day?
>R 77 F > (CDDP) 70mg/m 1209 div day?
ey (GEM) 1000mg/m 309> div dayl, 8. 15
GEM+CBDCA 28H
HIVKR7ZF > (CBDCA) AUC : 5 6045 div dayl
Pemb ~L78Y X7 (Pemb) 200mg/body 309 div dayl 21H
N gxtL (PTX) 200mg/m 1805 div dayl
PG 28 H
TLhZEY (GEM) 1000mg/m 3093 div dayl, 8. 15
CDDP+RT > X7 ZF >~ (CDDP) 15mg/m 607 div dayl~5b 21H
EPI (BEREAEAN) TEILE> Y (EPI) 30mg/body - B E dayl =
Ftx*t/)L (DTX) 75mg/m 60 div dayl
DTX+PSL \ 210
7L K=vay (PSL) 5mg/[A] 1H2[=] PO dayl~21
hNT x4 (CBZ) 25mg/m 605> div dayl
CBZ+PSL \ 210
7L F=vayr (PSL) 5mg/[A] 1H2[=] PO dayl~21
Nivo (2:8) =ZRi~7 (Nivo) 240mg/body 309 div dayl 14 H
Nivo (4:8) —HkIi<7 (Nivo) 480mg/body 309 div dayl 28H
A1 L~7 (IPl) Img/kg 309 div dayl
IP1+Nivo \ 21H
—HIL<7 (Nivo) 240mg/body 309 div dayl
v X7 ZF> (CDDP) 20mg/m 1204 div dayl~5
BEP T kR K (ETP) 100mg/m 1209 div dayl~5b 21H
JLA~4>r (BLM) 30mg/body 2~5% Y day2. 9. 16
v X7 ZF > (CDDP) 20mg/m 1204 div dayl~5
VIP T hRIK (ETP) 75mg/m 1509 div dayl~5b 21H
AFZX77IF (IFM) 1.2g/m 1509 div dayl~5b




